ESTIMATE SHEET	SHEET					
Company Name:	ame:	MRMLLP			Approved by	Approved by: Ramprasad
Project:		Gulmohar Residency	`		Sign:	
Work Description:	iption:	Rainwater dewatering line from C-block to old labour quarters	g line from C-	block to o	ld labour quarte	SLS.
Contactor Name:	ame:	P.Sai kumar				
Prepared By	,	Anirudh dal				
Date:		23-08-2020				
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount
_	Rainwater de-wa	Rainwater de-watering line from C-block to Old Labour quarters	ck to Old Labo	our quarte	rs 8	
			280.00	∌	14.00	3920.00
2	Square manholes 18"X18"X2"	s 18"X18"X2"	6.00	No's	300.00	1800.00
အ	Connecting pump	Connecting pump for Curing in lift pit at A 1.00	A 1.00	No's	1000.00	1000.00
			3.00	floors	200.00	600.00
4	Connecting pum	Connecting pump for Curing in lift pit at B block	at B block			
			1.00	No's	1000.00	1000.00
			3.00	floors	200.00	600,00
	Grand Total					8920.00

Bill for Labour Charges

Anirudh daal, Cherlapally

Date: 23.08.20

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Plumbing Work for rainwater line & Connecting pumps in Lift

pits at A & B-blocks.

Towards:

Labour Charges

S No.	Description	Amount		
1.	Brief description of work done: Towards Plumbing work done for rainwater dewatering & connecting pumps in lift pits for curing. Total Amount = 8,920 /- Work done from date 01.08.2020 to date 20.08.2020	Rs.3,568 /-		

Amount in words: Rupees. Three Thousand Five Hundred and Sixty-Eight Rupees.

Sign: Amak

Bill for Equipment Allowance Anirudh daal, Cherlapally.

Date: 23.08.20

In favor of:

MRMLLP

Project / Site: Location:

Gulmohar Residency

Mallapur

Type of Work:

Plumbing Work for rainwater dewatering line and pumps in lift pits

for Curing at A & B-blocks.

Towards: Equipment of Equipm

Equipment Allowance

S No.	Description	Amount
1.	Brief description of work done: Towards Plumbing work done for rainwater dewatering & connecting pumps in lift pits for curing. Total Amount = 8,920 /- Work done from date 01.08.2020 to date 20.08.2020	Rs.3,568 /-

Amount in words: Rupces. Three Thousand Five Hundred and Sixty-Eight Rupces.

Allowance for Consumables

Anirudh daal, Cherlapally.

Date: 23.08

In favor of:

MRMLLP

Project / Site: Location:

Gulmohar Residency

Mallapur

Type of Work: Towards:

Plumbing Work for Rainwater dewatering & Pimps in lift pits for Curir Allowance for Consumables.

S No.	Description	Amount
1,	Brief description of work done: Towards Plumbing work done for rainwater dewatering line & pumps in lift pits for curing at A & B-blocks. Total Amount = 8,920 /- Work done from date 01.08.20 to date 20.08.20	Rs.1,784/-

Amount in words: One Thousand seven Hundred and Eighty Four Only.

Sign: fmak

Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register		-96 -			Date - site bills Register		lls	21	8 20	
		MR Mallapur UP Site:				GIMR.				
Name of Contractor		Anirudh dal								
Nature of work		0	Rainwater dewatering line from C-block							
			D. I I I I						108/20	
SI. No.	Villa/Flat/block no).	Qty.			Units	Amou		Contractors	
-	Rainwater		280	14/-		rft	39	20/-	bill no	
2.	dewatering									
3.	- Cycuc 11/01/10		6	300/-		Nos	180	0/-		
	4. Connecting puny			100	00/-	Nos.				
5. at A-Block			3	200/-		floors.	600/-			
6. Connecting pump		mp	1.	1000/-		Nos	1000/-			
7. at B-Block.		3	200/-		floors	600/-				
8,										
	9.									
11. Total:							000	20/		
		YES WO.		GST bill required			3920/— UYES ¥NO.			
		equired		Measurement &		&	Enclosed			
	estimate sheet:		lot required		estimate sheet:			☐ Not enclosed		
PO/WO no.		-		PO/WO date:		_		_		
Rema	Remarks:									
Approved by Project Manager			er Appro	Approved by Design Team			Approved by M.D.			
Date: 21 08 2020 78			Date:	Date:			Date:			
Sign:	Sign: 2			Sign:			Sign	Sign:		

Notes: 1: This advice must be sent within 7 days of completing work: 2: This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.